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Q.1

Paper / Subject Code: 96506 / Demography

Duration 3 Hours Marks :- 100

Please check whether you have got the right question paper.
1. All questions are compulsory.
2. Figures to the right indicate full marks.

Attempt any two of the following: 25
What is Fertility? Explain the factor affecting rate of fertility.

b. Explain the factors affecting age at marriage.

Q.2

Discuss the causes of high fertility rate in developing countries.

Attempt any two of the following: 25
What is migration? Explain the different types of migration.

b. Explain the Harris-Todare model of Migration.

Q.3

Q.4

Describe the effects of urbanisation.

Attempt (any two) of the following: 25
What is population policy? Explain the features of population policy in
India.

Critically examine the Family Welfare Programme in India.

Explain the importance of Population Projection.

Write note on (any two): 25
Life table

b. Causes of urbanisation

Methods of family planning
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